1—(1) A& (2016410H)

AH FERFE HLHI £%F
108218 FER HhiE Bk 10,000
10A25H g i ¥k 10,000
10H30H FER mt B 10,000
1—(1) A&£(2016410A8) 5l ¥30,000]

1—(2) F£E(20164F10A)

AH BB AT IR HAHI £%
10A2H HEIE = H ¥ 3,000
1086H g = H ¥k 3,000
1086H FER K ¥k 3,000
10A6H HE)|E Bk B 10,000

10A13H HE)|E 11}z ¥ 3,000
108138 FER IRA ¥ 3,000
10816H E 3L =48 Bk 3,000
10818H FER At ¥k 3,000
108 18H FEER e Bk 3,000
108 20H FER EiF ¥ 3,000
10821H FEER thiE Bk 3,000
10821H mARE 58 b 3,000
10821H FEER 1= & Bk 3,000
108248 FER R b 3,000
108258 E 3L ik Bk 3,000
10A25H FEER " b 3,000
108268 FER e )il B 3,000
10A27H FEER AN b 3,000
10H27H HEIE HiE B 3,000
108308 FER NS ¥k 3,000
1—(2) 52 (20164108) it ¥67,000]
1—(3) [TPAEE (20165 10A)

AH ZEATIR HAHI £%
10A1H FER = ¥ 12,000
1081H FEER fEENEEFHE 1,200
10A2H HE)|E =H ¥k 10,000
108 2H FEER fEENEEFHE 1,600
10A3H FER HH ¥k 10,000
1084H FEE LI B 50,000
10A4H FER R ¥k 3,000
10848 gt #taurs/a—KL—say K 30,000
10A4H HE ¥ 20,000
108 4H FER FEENEEFHE 500
10A5H ZFEDOIE ¥ 2,000




1086H g E=H ¥ 2,000

1086H FEE FeIK 5 3,000

10A7H FEE EwMY BFH ¥k 1,000

108 8H FER fEENE 5 2,200

1089H FER fEENSE 5 2,820

1089H BEER BAE Bk 10,000

1089H FER hnia ¥ 8,000
108108 FEER fEENSE &5 2,772
108118 E4 ¥ 50,000
10A13H MR 11} i 2,000
10A13H FER RA ¥k 7,000
10138 mER all B 30,000
108 14H g 100C (D ¥E ¥k 50,000
108148 HE)IIE INE ¥k 3,000
108 14H FER FrH ¥ 5,000
108 14H FEER fEENSE &5 1,120
10815H FER EENSZ 5 2,100
10816H E 3t =ta ¥k 10,000
10816H FER EENSZ 5 1,972
108178 FER LLI b 30,000
108 18H FER A+t Bk 3,000
10H18H FER e ¥ 7,000
10818H FER EENSZ 5 550
10820H FER EiF ¥ 2,000
108208 g 7alll 5 20,000
10H20H FAZS ¥ 5,000
10H208 g pun B 30,000
10A21H mARE 58 b 9,000
108218 FER Y B 7,000
10A21H FER {Fi b 20,000
108 22H g il ¥k 2,000
10823H FER fENS =5 100
10823H FER = H B 3,000
10823H R ED INRR ¥k 5,000
108248 FER =R B 17,000
10A25H FER oS o b 5,000
10A25H =ER ER Bk 10,000
10A25H H AT b 1,000
10A25H S8 X Bk 5,000
10A25H RERAT H e b 6,000
10825H HER g5 Bk 3,000
10A26H FER Bl b 10,000
10H26H FEER |4l B 5,000
10A27H FER AN b 7,000
108278 )8 = Bk 2,000
10A27H FER fENSE &5 2,500
10A27H BEER ] Bk 10,000
10A28H FER fENSE &5 6,000




10H28H FEE A& ¥ 2,500
108298 E4 B 1,000
10A30H FEE BENHEEHE 3,150
108318 FEE hnk B 10,000
10831H HIRH EH % 60,000
1—(3) [TpACES(2016410A8) it ¥644,084]
1—(4) 201610 AfEEH - AR
F A AFEEH ASEF
10818 (L) 13 8,500
10828 (H) 12 7,600
1083H (A) 2 1,600
10848 (A) 8 4,400
10858 (JK)
10868 (K) 7 4500
10878 (£) 4 2,200
1088H (1) 10 5,200
1089H (H) 37 20,350
108108 (B) 25 16,700
108118 () 2 1,600
108128 (JK)
108138 (K)
108148 (£) 4 3,200
108158 (%) 14 7,700
108168 (H) 9 4,900
108178 (B) 4 2,500
108188 (\) 5 3,400
108198 (JK)
10H20H (K)
108218 (£) 3 1,200
108228 (%) 9 3,794
108238 (H) 8 4,800
108248 (B)
108258 () 10 7.400
108268 (JK)
108278 (R) 8 5,000
10828H (£) 5 2.800
108298 (%) 15 6,750
108308 (H) 15 9,000
108318 (A) 2 1,400
2016410 A AEE S §] 231]
1—(4) 20165108 ALY B ¥136,494]

1—(5) BEBLWHSATKIE®R(20165F10A)




AH ERFE HAHI £%
10A3H HER £F ¥k 1,000
10A3H EHE NG 5 8,000
1083H RFE HFH ¥k 1,000
108 9H FER ik ¥k 12,000

10A118 B4 IR AR ¥ 12,000
10138 FEER =; B 2,000
108 17H BEER = ¥ 12,000
108 18H FEER ik Bk 1,000
10A18H FER BT ¥ 3,000
108 20H BEER {ER K Bk 2,000
108258 FER o ¥k 12,000
10A25H8 HE)IIE A H i 2,000
108268 g E N ¥k 24,000
10H26H BER A B 1,000
10H26H B AR AR 5 12,000
1—(5) BELVESATHIES (20164 108) it ¥105,000]

1—(6) H2(ICPAITPA)INFFTLARABERCXIE®(20164£10A)

AH #BE fF 2 EAH =EE
1—(6) W2 (I AIPA) 85T A RBBTZES (2016F10A) &t | 0]
2016 10ACXER &5t ¥982,578
















